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2015
ECONOMICS
(General)
PAPER—IV
Full Marks : 45
Time : 2 Hours

The figures in the margin indicate full marks

Candidates are required to give their answers in their
own words as far as practicable.

Nlustrate the questions wherever necessary.

Group—A

Answer any two questions : 9x2

1. What is rural development? Why is rural development

necessary ? What are the main features of rural
development ? ; 2+4+3

2. Write briefly about the rural development policy taken by

the Indian Government to reduce unemployment.
9
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What do you mean by bar diagram ? Mention the names
of different types of bar diagram. Draw a bar diagram
showing per capita income (PCI) of a country in different

years.
Year 2001[2002|2003 j 2004 | 2005 | 2006 | 2007|2008
PCI (Rs.) | 120 140 | 170 | 160 | 200 | 250 | 290! 320
2+3+4

4. What do you mean by a measure of central tendency ?

What are the main measures of central tendency ?

How will you calculate the mode for a grouped frequency
distribution ?

Group—B

Answer any three questions from the following :

2+4+3

6x3

Distinguish between a project based on time series data
and the other based on cross section data. 6

. What do you mean by rural credit? What are its basic

needs ? 2+4

Land for agricultural production being limited, in what
main ways can a rural economy be developed ?
6
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8. What is the full form of NABARD ? When was it formed ?
What are its functions ? 1+1+4
9. Give a brief description of Decentralised Planning in
Rural Development of India. 6
10. Define correlation coefficient. Calculate correlation
coefficient from the following data.
X 5 10 15 20 25 30 35
Y 10 20 30 40 30 20 10
Interpret the result. 6
Group—C
Answer any three questions : 3x3
11. What do you mean by non-farm employment ?
12. What are the major types of irrigation ?
13. AM = 145.35 Median = 144.92. What is the value of
Mode ? 3
14, Find the SD of the following data :
49, 63, 46, 59, 65, 52, 60, 54
18. What is coefficient of variation ? What is its use?
16. Briefly present one important step of a project in

Economics.
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